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Select one:

e a. B

“ b.A

c. C
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Select one:

a. (N,)

b. (56 Qx, 56 Qy)
C. (56 My, 56 My)
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Select one:

a. A
b. B
c. C

Question 4
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Select one:

a. bbgmaolb 5943L ygzgs 303sMEgd0m JOMbI0MO M30L9dgd0. dsy., wommbo, J3s.
b. bbgmaol dmaoemds 8935909900 9JOHMOEI0Z039 BoLOE0m.
C. byl bgssbbgs dodsMmmvemgdoom 533l bgsslbgs m30lgdgdo. dog. bol dolows.
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Select one:
a.C
b. A
c.B
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Select one:
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Select one:
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Select one:
(I,=1I,cosa+I sine; I, =1 sina+1,cosa).
B. (Iu=1x0052a—In.Sin2(Z+]ysin2a; I\'=I_VCOSza+ I,G.Sin2a+I,Sin2a).

(I, =1 sin2a; I =1I cosla).
C.
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Select one:

a. A
b. C
c.B

Question 10
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Select one:
a.C
b. A
c.B

Question 11
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Select one:

a.C

b. A

c.B
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Select one:
a. A
b. C
c.B
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Select one:
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Select one:

a. (o3golL d ©osdyE®o)
b. (g®gbol Ma® dmdgbEo)
C. (wo3goL | Loa®dy)



